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AREA OF A TRAPEZIUM AND A POLYGON

Solved Examples

1. Two parallel sides of a trapezium are of lengths 27 cm and 19 cm

respectively. and the distance between them is 14 cm. Find the area of the

trapezium.

Watch Video Solution

2. The area of a trapezium is  and the distance between its parallel

sides is 16 cm. If one of the parallel sides is of length 25 cm, find the

352cm2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DWKal8SoT19P
https://dl.doubtnut.com/l/_1O3frUgkEbgk


length of the other.

Watch Video Solution

3. The area of a trapezium is  and its height is 8 cm. If one of the

parallel sides is longer than the other by 6 cm. Find the length of each of

the parallel sides.

Watch Video Solution

168cm2

4. The parallel sides of a trapezium are 25cm and
 13cm; its nonparallel

sides are equal, each being 10cm, find the area of the
trapezium.

Watch Video Solution

5. ABCD is a trapezium in which AB || DC, ABデ78 cm, CD = 52 cm. AD = 28 cm

and BC =30cm . Find the area of the trapezium.

Watch Video Solution

https://dl.doubtnut.com/l/_1O3frUgkEbgk
https://dl.doubtnut.com/l/_r75L2X9e9l9N
https://dl.doubtnut.com/l/_JeaRZoJ1JTuJ
https://dl.doubtnut.com/l/_CsdIMFbpp7Io


6. The adjacent figure shows the diagram of a picture frame having outer

dimensions  and inner dimensions . If the

width of each section is the same, find the area of each section of the

frame. 

A.  

B.  

28cm × 32cm 20cm × 24cm

112cm2 96cm2

113cm2 97cm2

https://dl.doubtnut.com/l/_CsdIMFbpp7Io
https://dl.doubtnut.com/l/_pGdk6XrVkDa9


C.  

D.  

Answer: A

Watch Video Solution

114cm2 98cm2

115cm2 99cm2

7. In the given figure, ABCD is a quadrillateral in which

 such that AL = 6 cm and CM = 8 cm.

Find the area of aquad. ABCD. 

BD = 14cm, AL ⊥ BD, CM ⊥ BD

https://dl.doubtnut.com/l/_pGdk6XrVkDa9
https://dl.doubtnut.com/l/_u9shSC5Hcemw


Watch Video Solution

8. Find the area of the given pentagon ABCDE in which each one of BF, CH

and EG is perpendicular to AD such that AF = 9 cm, AG = 13 cm, AH = 19 cm,

AD = 24 cm, BF = 6 cm, CH = 8 cm and EG = 9 cm. 

Watch Video Solution

9. Find the area of the given hexagon ABCDEF in which each one of BG, CI,

EJ and FH is perpendicular to AD and it is being given that AG = 6 cm, AH =

https://dl.doubtnut.com/l/_u9shSC5Hcemw
https://dl.doubtnut.com/l/_OypwVvZZAzfe
https://dl.doubtnut.com/l/_RsDPkZkFrmvQ


10 cm, Al = 18 cm, AJ = 21 cm. AD = 27 cm, BG = 5 cm, CI = 6 cm, EJ= 4 cm and

FH= 6 cm.

Watch Video Solution

10. In the given figure ABCDE is a pentagonal park in which DE = DC, AB =

BC = CE = EA = 25 m and its total height is 41 m. Find the area of the park. 

https://dl.doubtnut.com/l/_RsDPkZkFrmvQ
https://dl.doubtnut.com/l/_FqoiW7bOiWkL


Watch Video Solution

https://dl.doubtnut.com/l/_FqoiW7bOiWkL


11. Find the area of the given hexagon ABCDEF in which each side

measures 5 cm, height BE = 11 cm and width FD = 8 cm. 

Watch Video Solution

12. Find the area of an octagon ABCDEFGH having each side equal to 5 cm,

HC = 11 cm and  such that AL = 4 cm. AL ⊥ HC

https://dl.doubtnut.com/l/_hQtRGIsZXUHL
https://dl.doubtnut.com/l/_tzQBIP5ecCdZ


Exercise 18 A

Watch Video Solution

1. Find the area of a trapezium whose parallel sides are 24 cm and 20 cm

and the distance between them is 15 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_tzQBIP5ecCdZ
https://dl.doubtnut.com/l/_M09bLdOmBhG1


2. Find the area of a trapezium whose parallel sides are 38.7 cm and 22.3

cm and the distance between them is 16 cm.

Watch Video Solution

3. The shape of the surface of a table is trapezium. Its parallel sides are 1

m and 1.4 m and the perpendicular distance between them is 0.9 m. Find

its area. 

Watch Video Solution

https://dl.doubtnut.com/l/_2gD4pNG6eXVA
https://dl.doubtnut.com/l/_uEV06UnpTnpf
https://dl.doubtnut.com/l/_2B2f1mnct5fV


4. The area of a trapezium is 1080 . If the length of its parallel sides

be 55 cm and 35 cm, then find the distance between the sides.

Watch Video Solution

cm2

5. A field is in the form of a trapezium. Its area is  and the distance

between its parallel sides is 26 m. If one of the parallel sides is 84 m, find

the other.

Watch Video Solution

1586m2

6. The area of a trapezium is . Its parallel sides are in the ratio 4 : 5

and the distance between them is 18 cm. Find the length of each of the

parallel sides.

Watch Video Solution

405cm2

https://dl.doubtnut.com/l/_2B2f1mnct5fV
https://dl.doubtnut.com/l/_rConYN4Kjujf
https://dl.doubtnut.com/l/_75YJq0Vhrh90


7. The area of a trapezium is  and its height is . If one of the

parallel sides is longer than the other by 6 cm, the length of the longer of

the parallel sides is

Watch Video Solution

180cm2 9cm

8. In a trapezium-shaped field, one of the parallel sides is twice the other.

If the area of the field is  and the perpendicular distance between

the two parallel sides is 84 m, find the length of the longer of the parallel

sides.

Watch Video Solution

9450m2

9. The length of the fence of a trapezium - shaped field ABCD is 130 m and

side AB is perpendicular to each of the parallel sides AD and BC. If BC = 54

https://dl.doubtnut.com/l/_YEzz1x7lvCq6
https://dl.doubtnut.com/l/_U6nQmEfMB5FB
https://dl.doubtnut.com/l/_F0KJhqLhEAbZ


m, CD = 19 m and AD = 42 m, find the area of the field. 

Watch Video Solution

10. In the given figure, ABCD is a trapezium in which

 and BC = 40 cm.AD ∣ ∣ BC, ∠ABC = 90∘ , AD = 16cm, AC = 41cm

https://dl.doubtnut.com/l/_F0KJhqLhEAbZ
https://dl.doubtnut.com/l/_rJw3yIT8W0kp


Find the area of the trapezium. 

Watch Video Solution

11. 11. The parallel sides of a trapezium are 20 cml and 10 cm. Its

nonparallel sides are both equal. each being 13 cm. Find the area of the

trapezium.

Watch Video Solution

12. Find the area of a trapezium parallel sides are 11 cm and 25 cm long

and nonparallel sides are 15 cm and 13 cm .

W t h Vid S l ti

https://dl.doubtnut.com/l/_rJw3yIT8W0kp
https://dl.doubtnut.com/l/_upKPWEjM4FgU
https://dl.doubtnut.com/l/_sdRgLVXa2Rcx


Exercise 18 B

Watch Video Solution

1. In the given figure, ABCD is a quadrillateral in which AC = 24 cm,

 and  such that BL = 8 cm and DM = 7 cm. Find the

area of quard. ABCD. 

Watch Video Solution

BL ⊥ AC DM ⊥ AC

https://dl.doubtnut.com/l/_sdRgLVXa2Rcx
https://dl.doubtnut.com/l/_kwmGTUcTDtAH


2. In the given figure, ABCD is a quadrilateral - shaped field in which

diagonal BD is 36 m,  and  such that AL = 19 m and

CM = 11 m. Find the area of the field. 

Watch Video Solution

AL ⊥ BD CM ⊥ BD

3. Find the area of pentagon ABCDE in which  and 

 such that AC = 18 cm, AM = 14 cm, AN = 6 cm, BL = 4 cm, DM = 12

BL ⊥ AC, DM ⊥ AC

EN ⊥ AC

https://dl.doubtnut.com/l/_sKK37xMFi2qG
https://dl.doubtnut.com/l/_RJqssFAB896P


cm and EN = 9 cm. 

Watch Video Solution

4. Find the area of hexagon  in which 

 and  such that 

ABCDEF

BL ⊥ AD, CM ⊥ AD, EN ⊥ AD FP ⊥ AD

AP = 6cm, PL = 2cm, LN = 8cm, NM = 2cm, MD = 3cm, FP = 8cm

https://dl.doubtnut.com/l/_RJqssFAB896P
https://dl.doubtnut.com/l/_ozdLXTAZei3f


and  

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CM = 6cm.

200cm2

245cm2

234cm2

265cm2

https://dl.doubtnut.com/l/_ozdLXTAZei3f


5. Find the area of pentagone ABCDE in which 

and  such that AC = 10 cm, AD = 12 cm, BL = 3 cm, CM = 7 cm

and EN = 5 cm. 

Watch Video Solution

BL ⊥ AC, CM ⊥ AD

EN ⊥ AD

6. Find the area enclosed by the given figure ABCDEF as per dimensions

given herewith. 

https://dl.doubtnut.com/l/_s4z8LqQlSJV9
https://dl.doubtnut.com/l/_fAJ6ImgOtKUQ


Watch Video Solution

https://dl.doubtnut.com/l/_fAJ6ImgOtKUQ


7. Find the area of given figure ABCDEFGH as per dimensions given in it. 

Watch Video Solution

8. Find the area of a regular hexagon ABCDEF in which each side

measures 13 cm and whose height is 23 cm, as shown in the given figure. 

https://dl.doubtnut.com/l/_2s3n1NRYxE2O
https://dl.doubtnut.com/l/_9zlSeWAyVtgL


Exercise 18 C Objective Questions

Watch Video Solution

1. The parallel sides of a trapezium measure 14 cm and 18 cm and the

distance between them is 9 cm. The area of the trapezium is

A. 96cm2

https://dl.doubtnut.com/l/_9zlSeWAyVtgL
https://dl.doubtnut.com/l/_BXz1GYaIXFo5


B. 

C. 

D. 

Answer: B

Watch Video Solution

144cm2

189cm2

207cm2

2. The lengths of the parallel sides of a trapezium are 19 cm and 13 cm

and its area is . The distance between the parallel sides is

A. 9 cm

B. 7 cm

C. 8 cm

D. 12.5 cm

Answer: C

Watch Video Solution

128cm2

https://dl.doubtnut.com/l/_BXz1GYaIXFo5
https://dl.doubtnut.com/l/_w7hB3UX13pts


3. The parallel sides of a trapezium are in the ratio 3:4 and the

perpendicular distance between them is 12 cm. If the area of the

trapeziumis , then its shorter parallel side is

A. 45 cm

B. 42 cm

C. 60 cm

D. 36 cm

Answer: A

Watch Video Solution

630cm2

4. The area of a trapezium is  and its height is . If one of the

parallel sides is longer than the other by 6 cm, the length of the longer of

the parallel sides is

180cm2 9cm

https://dl.doubtnut.com/l/_w7hB3UX13pts
https://dl.doubtnut.com/l/_G01KGsqwsvTo
https://dl.doubtnut.com/l/_UPO4jmve2jVU


A. 17 cm

B. 23 cm

C. 18 cm

D. 24 cm

Answer: B

Watch Video Solution

5. In the given figure,  and . IF 

 and , the area of

trapezium  is

A. 

B. 

C. 

D. 

AB ∣ ∣ DC DA ⊥ AB

DC = 7cm, BC = 10cm, AB = 13cm CL ⊥ AB

ABCD

84cm2

72cm2

80cm2

91cm2

https://dl.doubtnut.com/l/_UPO4jmve2jVU
https://dl.doubtnut.com/l/_1AJGViQNyL3C


Test Paper 18 A

Answer: C

Watch Video Solution

1. The base of a triangular field is three times its height and its area is

. Find the base of the field.

A. 30 m

B. 90 m

C. 40 m

D. 50 m

Answer: B

Watch Video Solution

1350m2

https://dl.doubtnut.com/l/_1AJGViQNyL3C
https://dl.doubtnut.com/l/_tpc3BQv82lkh


2. Find the area of an equilateral triangle of side 6 cm.

Watch Video Solution

3. the perimeter of a rhombus is 180 cm and one of its diagonals is 72 cm

find the length of the other diagonal

A. 54 cm

B. 60 cm

C. 70 cm

D. 84 cm

Answer: A

Watch Video Solution

4. The area of a trapezium is  and its height is 12m. If one of the

parallel sides is 14 m less than the other, find the length of each of the

216m2

https://dl.doubtnut.com/l/_r1GtCxMsb0F2
https://dl.doubtnut.com/l/_7x1cDYLzP54P
https://dl.doubtnut.com/l/_A0vZt7pTantP


parallel sides.

Watch Video Solution

5. Find the area of a quadrilateral one of whose diagonals is 40 cm and

the lengths of the perpendiculars drawn from the opposite vertices on

the diagonal are 16 cm and 12 cm.

Watch Video Solution

6. A field is in the form of a right triangle with hypotenuse 50 m and one

side 30 m. Find the area of the field.

A. 800 

B. 619 

C. 670 

D. 600 

m2

m2

m2

m2

https://dl.doubtnut.com/l/_A0vZt7pTantP
https://dl.doubtnut.com/l/_BXoojbkrtvRK
https://dl.doubtnut.com/l/_PV8spuca5XFO


Test Paper 18 B Mark Against The Correct Answer In Each Of The Following

Answer: D

Watch Video Solution

1. The base of a triangle is 14 cm and its height is 8 cm. The area of the

triangle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

112cm2

56cm2

122cm2

66cm2

https://dl.doubtnut.com/l/_PV8spuca5XFO
https://dl.doubtnut.com/l/_JSWGFC5wP1sO


2. The base of a triangle is four times its height and its area is . The

length of its base is

A. 10 m

B. 15 m

C. 20 m

D. 25 m

Answer: C

Watch Video Solution

50m2

3. The diagonal of a quadrilateral is 20 cm in length and the lengths of

perpendiculars on it from the opposite vertices are 8.5 cm and 11.5 cm.

The area of the quadrilateral is

A. 

B. 

400cm2

200cm2

https://dl.doubtnut.com/l/_6xrHjr5wolMM
https://dl.doubtnut.com/l/_n3knIS9NDcPM


C. 

D. 

Answer: B

Watch Video Solution

300cm2

240cm2

4. Each side of a rhombus is 15 cm and the length of one its diagonals is

24 cm. The area of the rhombus is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

432cm2

216cm2

180cm2

144cm2

https://dl.doubtnut.com/l/_n3knIS9NDcPM
https://dl.doubtnut.com/l/_lu8R4FuDAny3
https://dl.doubtnut.com/l/_9dHj4h93hRg0


5. The area of a rhombus is  and one of its diagonals is 24 cm.

Each side of the rhombus is

A. 10 cm

B. 13 cm

C. 12 cm

D. 15 cm

Answer: B

Watch Video Solution

120cm2

6. The parallel sides of a trapezium are 54 cm and 26 cm and the distance

between them is 15 cm. The area of the trapezium is

A. 

B. 

C. 

702cm2

810cm2

405cm2

https://dl.doubtnut.com/l/_9dHj4h93hRg0
https://dl.doubtnut.com/l/_CJNJMjzCGFfo


D. 

Answer: D

Watch Video Solution

600cm2

7. The area of a trapezium is 
. Its parallel sides are in the ratio 3:5

and
the perpendicular distance between them is 12cm. Find the length of

the longer parallel sides.

A. 24 cm

B. 40 cm

C. 32 cm

D. 36 cm

Answer: B

Watch Video Solution

384 cm2

https://dl.doubtnut.com/l/_CJNJMjzCGFfo
https://dl.doubtnut.com/l/_GpRfgdWvhM7J


Test Paper 18 C Fill In The Blanks

1. (i) Area of triangle . 

(ii) Area of . 

(iii) Area of a trapezium . 

(iv) The parallel sides of a trapezium are 14 cm and 18 cm and the distance

between them is 8 cm. The area of the trapezium is ……. .

Watch Video Solution

= × (…. . ) × (…. . )
1

2

a ∣ ∣ gm = × (……) × (……)
1

2

= × (……) × (……)
1

2

cm2

https://dl.doubtnut.com/l/_1Z6rb5fqhOXt

